
1) (4 x 39) / (6 x 6-5)

Answer: ____________

2) (-880) + (-852)

Answer: ____________

3) Find perimeter of 
triangle
a = 385 ft, b = 628 ft,
c = 860ft

Answer: ____________

4) Find area of square 
having each side (s)
equals 605 cm

Answer: ____________

5) Find the range of the following set of data:

0.6, 5, 3, 20, -8, -14, 12, -17, 0.1, 10

Answer: ____________

6) Find perimeter of 
square having each side 
(s) equals 122 in

Answer: ____________

7) (-958) + 597

Answer: ____________

8) b

a o c
Measure angle boc 

Answer: ____________

9) (-1295) ÷ (-37)

Answer: ____________

10) Find perimeter of 
triangle s = 768 in

Answer: ____________

11) 3/14 of 56

Answer: ____________

12) Factorise q2 + 11q + 18

Answer: ____________

13) Solve 11j2 + 5j - 4 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

14) What would you multiply by to 
increase an amount by 10%?

Answer: ____________

15) (-962) ÷ 26

Answer: ____________
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16) 516/19 ÷ 96/11

Answer: ____________

17) 4/27 of 54

Answer: ____________

18) Share 20 in the ratio 2:3

Answer: ____________

19) Round 14.9135176 to the nearest 
1000

Answer: ____________

20) Decrease 20 by 42%

Answer: ____________

Total: ___ / 20
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Answers:

1) 102036672 2) -1732 3) 1873ft 4) 366025cm 5) 37 6) 488in 7) -361

8) 33 9) 35 10) 2304in 11) 12 12) (q + 2)(q + 9) 13) j = 0.4 or -0.9 14) 1.1

15) -37 16) 407/665 17) 8 18) 4 : 16 19) 14.914 20) 11.6
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